Let's practice mu'fip]icaﬁon June, 18 th
1. Solve the following multiplications:
4 4 b) 7 |3
8 X
X 6 < i
X 8 - =




2. Problem solving:

- Read carefully the following word problems.
- Solve them and show the process below.

The Costanera Center building is 908 meters tall .The new building it
is expected to be 5 times Costanera Center. How tall will this new
building be?

Repeated addition Operation Answer
(example: 2+2+2)

The approximate distance between Santiago and La Serena is 478
kilometers. In one month a train driver completes 9 trips.
How many kilometers does a driver travel monthly?

Repeated addition Operation Answer
(example: 2+2+2)




*Challenge Time!* (It is optional).

If cans of Fanta are packed in boxes of 325, how many cans will there
be in 137 boxes?

Repeated addition Operation Answer
(example: 2+2+2)

3- Find the product and solve the hidden message.
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Message:

Great job guys!




